Lecture 0: An introduction to the 2nd quantization method

\$1 Harmonic oscillator (warm up)  $H = -\frac{\hbar^2}{2m} \frac{d^2}{dx^2} + \frac{1}{2}m\omega^2 x^2$ , define characteristic length  $l = \sqrt{\frac{\hbar}{m\omega}}$ then  $a = \frac{1}{\sqrt{2}} \left[ \frac{\chi}{\ell} + i\ell p \right]$ ,  $a^{\dagger} = \frac{1}{\sqrt{2}} \left[ \frac{\chi}{\ell} - ip\ell \right]$  $[a, a^{\dagger}] = 1$ , and  $H = \hbar \omega (a^{\dagger}a + \frac{1}{2})$ . The eigenstate of oscillator can be expressed as  $|n\rangle = \frac{(a^{T})^{n}}{\sqrt{1-1}} |0\rangle$ where  $|0\rangle$  satisfies  $a|0\rangle = 0$ .  $ex: 0 \langle \chi | 0 \rangle = \frac{1}{\sqrt{\pi 2}} e^{-\frac{\chi^2}{2\ell^2}}$ (i)  $a^{\dagger}(n) = \sqrt{n+1} |n+1\rangle$   $a(n) = \sqrt{n} |n\rangle$ ,  $a^{\dagger}a(n) = n|n\rangle$ 32 Bose statistics and Fermi statistics Suppose we have a set of complete and normalized basis of Singe particle newefunctions, we can use them to anstruct the N-body ψ, ψ.... wave function. for bosons, we first ansider  $\psi_1(x_1) - \psi_1(x_{n_1}) \quad \psi_2(x_{n_1+1}) - \psi_2(x_{n_1+n_2}) - \{\psi_k(1) - \psi_k(x_N)\}$ 

and symmetrize it

$$\overline{\Psi}_{N_1 \cdots N_k} (S_1 \cdots S_N) = \left( \frac{N!}{N_1! \cdots N_k!} \right)^{-1/2} \sum_{P_E} P_E \left\{ \overline{\Psi}_i(x_1) \cdot \overline{\Psi}_i(x_n) \cdots \left\{ \overline{\Psi}_k \cdots \overline{\Psi}_k(S_N) \right\} \right\}$$

For fermiums, each state can only support one particle  

$$\begin{aligned} & \Psi_{i_1}(S_1) \quad \Psi_{i_2}(S_2) \cdots \Psi_{i_N}(S_N) \\
\Rightarrow \quad \Psi_{S_1}(S_1) \quad \Psi_{i_2}(S_2) \cdots \Psi_{i_N}(S_N) = \frac{1}{\sqrt{N!}} \sum_{P} (-)^{P} \quad P \quad \Psi_{i_1}(S_1) \quad \Psi_{i_2}(S_2) \cdots \Psi_{i_N}(S_N)
\end{aligned}$$

From the above section, we learn that as ling as we have a set of complete and orthogonal single particle basis, and specify the occupation number, distribution, we can write down the many body wave function. This set of basis fir many body wavefunction basis is Characterize by the particle numbers in the states of  $\mathcal{V}_1, \mathcal{V}_2 \cdots$  as  $N_1, N_2, \cdots$ . We define the Fock space as furned by all the eigenstates of particle number operator  $\hat{n}_1, \hat{n}_2 \cdots$ . The transformation between different basis is through the creation/anizilation operator of each single particle state.

We can define inner product of two wave functions as  

$$(\underline{\Psi}_{A}, \underline{\Psi}_{B}) = \sum_{N, N_{A}, \dots} C_{A}^{*}(N_{1}, N_{2}, \dots) C_{B}(N_{1}, N_{2}, \dots).$$
Thus all the theory can be represented by using the particle number representation  
in which the Wavefunction is written as  $C(N_{1}, N_{2}, \dots)$ . The many-particle  
wavefunction basis defined above  $\underline{\Psi}_{N_{1}^{'}N_{2}^{'}\dots N_{A}^{'}}$  in thes representation is  
 $C_{N_{1}^{'}N_{1}^{'}\dots N_{A}^{'}\dots} (N_{1}, N_{2}, \dots) = S_{N_{1}N_{1}^{'}} S_{N_{2}^{'}\dots N_{A}^{'}}$  in thes representation is  
 $C_{N_{1}^{'}N_{1}^{'}\dots N_{A}^{'}\dots} (N_{1}, N_{2}, \dots) = S_{N_{1}N_{1}^{'}} S_{N_{2}N_{1}^{'}\dots N_{A}^{'}}$  in thes representation is  
 $C_{N_{1}^{'}N_{2}^{'}\dots N_{A}^{'}\dots} (N_{1}, N_{2}, \dots) = S_{N_{1}N_{1}^{'}} S_{N_{2}N_{1}^{'}\dots N_{A}^{'}}$   
More conveniently, we define the ket-space as  
 $C_{N_{1}^{'}N_{2}^{'}\dots N_{A}^{'}\dots} (M_{1}, N_{2}, \dots) \iff N_{1}^{'}N_{1}^{'}N_{2}^{'}\dots >$   
 $\langle N_{1}^{'}N_{2}^{'}\dots N_{A}^{''}\dots N_{A}^{''}\dots S_{N_{1}N_{2}^{''}\dots} \otimes M_{1}N_{1}^{'}N_{2}^{''}\dots >$   
 $\langle N_{1}^{'}N_{2}^{'}\dots N_{A}^{''}\dots N_{A}^{''}\dots \otimes N_{A}^{'}N_{A}^{''}\dots \otimes M_{A}^{''}N_{A}^{''}\dots \otimes M_{A}^{''}N_{A}^{''}\dots >$   
 $= S_{N_{1}N_{1}^{''}} S_{N_{1}N_{2}^{''}\dots \otimes M_{A}^{''}} S_{A} an abitary
 $\alpha_{A} \qquad C(N_{1}, N_{2}, \dots) = \langle N_{1}N_{2}^{''}\dots |\Psi\rangle , where \Psi$  is an abitary  
 $\Psi$$ 

j

$$\begin{array}{l} & ( ) \\ & ( )$$

thus 
$$\psi(r)$$
 means the creation of one particle at the location  $r$ ,  
it's the creation operator in the coordinate representation.  
 $\psi(r)\psi(r)$  is the density operator at location  $r$ , and  
 $E\psi(r)\psi'(r) = \sum_{i} \psi(r)\psi'(r')[a_i,a_i^{\dagger}] = \sum_{i} \psi_i(r)\psi'(r') = \delta(r-r')$   
 $E\psi(r)\psi'(r')] = E\psi(r)\psi'(r')=0$   
\* transformation of creation/annihilation operators in different  
suppose that we define a set of operators  $a_i,a_i^{\dagger}$  associated with  
basis  $\psi_i$ , and a set of operators  $b_i, b_i^{\dagger}$  associated with  
basis  $\psi_i$ , and a set of operators  $b_i, b_i^{\dagger}$  associated with  
basis  $\psi_i$ , and a set of operators  $b_i, b_i^{\dagger}$  associated with basis of  $\psi_i$ .  
Because the field opearator is independent of basis,  $r \in$   
 $\psi(r) = \sum_{i} \psi(r) a_i = \sum \psi_i v b_i$   
 $\Rightarrow a_i = \sum_{i} \langle \psi_i l \psi_i \rangle \rangle b_i$ ,  $a_i^{\dagger} = \sum_{i} \langle \psi_i l \psi_i \rangle \rangle b_i^{\dagger}$   
for example  $\psi(r) = \sum_{i} \frac{1}{V_i} e^{ikr} u_{ik}$ ,  
 $\int dr \frac{e^{-ikr}}{\sqrt{V}}$   
\* expression of opearators / Schröclinger equation  
1) Single body operator  
 $F = \sum_{i=1}^{M} f(p)$  in the first guartization, where  $f(p)$  only depends  
on the variable of the p-th particle.

Let us begin with a representation in which f is diagonal,  

$$f \psi_{k} = f_{k} \psi_{k}, \quad \text{then}$$

$$\widehat{F} |N_{i}, N_{i} \dots \rangle = (N_{i}f_{i} + N_{k}f_{k} + \dots)|N_{i}, N_{i} \dots \rangle = \overline{Z}_{k} f_{k} \hat{n}_{k} |N_{i}, N_{i} \dots \rangle$$

$$\Rightarrow \quad \widehat{F} = \overline{Z}_{k} f_{k} \hat{a}_{k} a_{k} = \overline{Z}_{k} \langle k|f|k \rangle a_{k}^{k} a_{k} \quad \text{in the diagonal basis}$$

$$\Rightarrow \quad a_{k} = \overline{Z}_{i} \langle k|a_{k} \rangle b_{i}, \quad a_{k}^{k} = \overline{Z}_{i} \langle a_{i}|k \rangle b_{i}^{t}$$

$$\Rightarrow \quad a_{k} = \overline{Z}_{i} \langle k|a_{k} \rangle b_{i}, \quad a_{k}^{k} = \overline{Z}_{i} \langle a_{i}|k \rangle b_{i}^{t}$$

$$\Rightarrow \quad A_{k} = \overline{Z}_{i} \langle k|a_{k} \rangle \langle k|f|k \rangle \langle k|a_{k} \rangle b_{i}^{t} b_{i} = \overline{Z}_{i} \langle a_{i}|b_{i} \rangle \langle b_{j}^{t} b_{i}$$

$$\Rightarrow \quad \widehat{F} = \sum_{k \in ij} \langle a_{i}|b_{i} \rangle \langle k|f|k \rangle \langle k|a_{i} \rangle b_{i}^{t} b_{i} = \overline{Z}_{i} \langle a_{i}|a_{i} \rangle b_{j}^{t} b_{i}$$

$$= coardpk : in the coordinate basis$$

$$\widehat{F} = \int dr dr' \langle r|f|r' \rangle \widehat{\psi}(r) \widehat{\psi}(r')$$

$$= condinate rep \quad \widehat{F} = f(r, \nabla_{r})$$

$$\langle r|f|r' \rangle = \int dx \quad \delta(x-r) f(x, \nabla_{x}) \quad \delta(x-r') = f(r, \nabla_{r}) \quad \delta(r-r')$$

$$\widehat{F} = \int dr dr' \left\{ f(r, \nabla_{r}) \partial (r-r) \right\} \widehat{\psi}(r) \quad \psi(r') = \int dr \quad \psi(r) \quad f(r, \nabla_{r}) \quad \psi(r)$$

$$H_{0} = \frac{Z}{4} \quad \frac{\hbar k^{2}}{2m} \quad a_{k}^{k} a_{k} \quad (plane wave)$$

$$H = \quad \not{Z}_{ij} \quad C_{i}^{\dagger} C_{j} \quad \langle i|h|j \rangle \quad (kight - binaling model)$$

 $\tilde{\lambda}$ 

\* two - body operators:  

$$G = \frac{1}{2} \sum_{j=1}^{N} g(p, q_{j}), \quad \text{where } g(p, q) = g(q, p) \quad \text{where } p, q \text{ are the indices of two perfector:}$$

$$g(p, q) \text{ can be written as } g(p, q) = U(p) U(q) + V(p) U(q) = \int factorized into product of single body operator
$$\Rightarrow G = \frac{1}{2} \sum_{j=1}^{N} g(p, q) = \frac{1}{2} \left( \sum_{j=1}^{N} (U(p)v(q) + v(p) U(q)) + (\sum_{j=1}^{N} U) \left( \sum_{q=1}^{N} U \right) - \sum_{j=1}^{N} (U(q)) \right)$$

$$\stackrel{N}{=} U(q) = \sum_{il} \langle i|U|l \rangle a_{i}^{t}a_{l}, \quad \sum_{q=1}^{N} v(q) = \sum_{k=1}^{N} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{l}a_{k}a_{m}$$

$$\Rightarrow \left( \sum_{j=1}^{N} U(p) \right) \left( \sum_{q=1}^{N} U(q) = \sum_{il,km} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{l}a_{k}a_{m} \right)$$

$$= \sum_{il,km} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{m} + \sum_{il,km} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{k}a_{l}a_{m}$$

$$= \sum_{im} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{m} + \sum_{il,km} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{k}a_{l}a_{m}$$

$$= \sum_{im} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{m} + \sum_{il,km} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{k}a_{l}a_{m}$$

$$= \sum_{im} \langle i|U|m \rangle a_{i}^{t}a_{m} + \sum_{il,km} \langle i|U|l \rangle \langle k|v|m \rangle a_{i}^{t}a_{k}a_{l}a_{m}$$

$$= \sum_{im} \langle i|U|m \rangle a_{i}^{t}a_{m} + \sum_{il,km} \langle i|U|m \rangle a_{i}^{t}a_{k}a_{l}a_{m}$$

$$= \sum_{im} \langle i|U|m \rangle a_{i}a_{m} + \sum_{il,km} \langle i|U|m \rangle a_{i}a_{k}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle a_{i}a_{k}a_{l}a_{l}a_{m}$$

$$= \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|m \rangle \langle i|v|l \rangle a_{i}a_{k}a_{l}a_{l}a_{l}a_{l}a_{m} = \sum_{il,km} \langle i|U|$$$$

7

1. 1

§4. Second guantization for fermions

Again, we define particle number operator  

$$\begin{aligned} \hat{h}_{i} \mid N_{i} \cdots N_{i} & > = N_{i} \mid N_{i} \cdots N_{i} \cdots > \\ \text{and} \qquad \hat{h}_{i} = \sum_{i} N_{i} \mid N_{i} \cdots N_{i} \cdots > \\ \hat{h}_{i}^{\dagger} = n_{i}, \qquad \sum_{i} \hat{h}_{i}, \hat{n}_{i}, J = 0 \\ \text{annihilation / Creation : } \qquad a_{i}^{\dagger} \mid N_{i} \cdots N_{i-1} O_{i} \mid N_{in} \cdots > = C) \\ \Rightarrow a_{i}^{\dagger} = \sum_{i} (-)^{\frac{2^{-1}}{2}} N_{i} \quad N_{i} N_{i} \cdots N_{i-1} O_{i} \mid N_{in} \cdots > = 0 \\ \Rightarrow a_{i}^{\dagger} = \sum_{i} (-)^{\frac{2^{-1}}{2}} N_{i} \quad N_{i} N_{i} \cdots N_{i-1} \cdots > = 0 \\ \Rightarrow a_{i}^{\dagger} = \sum_{i} (-)^{\frac{2^{-1}}{2}} N_{i} \quad N_{i} N_{i} \cdots N_{i} \cdots > (N_{i} N_{i} \cdots O_{i} \cdots ) \\ a_{i}^{\dagger} \mid N_{i} N_{i} \cdots \qquad i_{i} \cdots > (N_{i} N_{i} \cdots O_{i} \cdots ) \\ a_{i}^{\dagger} = \sum_{i} (+)^{\frac{2^{-1}}{2}} N_{i} \quad N_{i} N_{i} \cdots O_{i} \cdots > (N_{i} N_{i} \cdots O_{i} \cdots ) \\ a_{i} = \sum_{i} (+)^{\frac{2^{-1}}{2}} N_{i} \quad N_{i} N_{i} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 10 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 10 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 10 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 10 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > = (a_{i}^{\dagger})^{N_{i}} (a_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > (A_{i}^{\dagger})^{N_{i}} (A_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > (A_{i}^{\dagger})^{N_{i}} (A_{i}^{\dagger})^{N_{i}} \cdots = 0 \\ (N_{i} N_{i} \cdots > (A_{i}^{\dagger})^{N_{i}} (A_{i}$$

where 
$$\langle i,k|g|lm\rangle = \int ds_{i}ds_{2} \Psi_{i}^{*}(s_{i}) \Psi_{j}^{*}(s_{j}) g(i, 2) \Psi_{i}(s_{i}) \Psi_{m}(s_{i})$$
  
 $\rightarrow \hat{G} = \int dn dr_{2} \Psi^{\dagger}(n) \Psi^{\dagger}(r_{2}) g(i, 2) \Psi(r_{2}) \Psi(r_{i}) \Psi(r_{i})$   
if we have spin  $\Rightarrow \hat{G} = \int dn dr_{2} \Psi^{\dagger}_{\sigma}(n) \Psi^{\dagger}_{\sigma'}(n) \Psi^{\dagger}_{\sigma'}(n) \Psi^{\dagger}_{\sigma'}(n)$   
The many body have illenian  
 $H = \int dr \hat{\Psi}^{\dagger}_{\sigma}(r) (T+U) \Psi^{\dagger}(r) + \frac{1}{d} \int dr_{i} dr_{2} \hat{\Psi}^{\dagger}_{\sigma'}(n) \hat{\Psi}^{\dagger}_{\sigma'}(n) \Psi^{\dagger}_{\sigma'}(n)$   
 $= \sum_{i,j} \langle i|T+U|i' \rangle d_{2}^{\dagger} a_{i'} + \frac{1}{2} \sum_{i,k' k'} \langle ik| V |i'k' \rangle a_{i}^{\dagger} a_{k}^{\dagger} a_{k'} a_{i'} a_{i'}^{\dagger}$   
§ Examples :  
 $O$  Evaluation of the Har tree - Tock interaction energy of the state  $|G\rangle$   
 $M = \frac{1}{aV} \sum_{k,k_{2}} U^{\dagger}_{k} a_{k'} a_{k'} a_{k'} a_{k'} a_{k'} a_{k'}$   
 $IG \rangle = \prod_{k=k_{F}} a_{kk}^{\dagger} a_{kk}^{\dagger} 10 \lambda_{k'}$   
we need to evaluate  $\langle G| V | G \rangle$ ,  
Hartree term:  
 $g=0$   $V_{H} = \frac{1}{aV} \sum_{k,k_{A}} V(0) \langle G| a_{k'}^{\dagger} a_{k'}^{\dagger} a_{k''} a_{k''} a_{k''} | G \rangle$ 

$$= \frac{1}{2V} \sum_{k_{1}k_{2}} V(0) \langle G| a_{k,\sigma}^{\dagger} a_{k,\sigma} a_{k,\sigma}^{\dagger} a_{k,\sigma}^{\dagger} a_{k,\sigma}^{\dagger} a_{k,\sigma} a_{k,\sigma} \delta_{k,\sigma} \delta_{k,\sigma}$$

. .

interactions cause scattering 
$$(k \uparrow j \cdot k \downarrow) \rightarrow (k'\uparrow j \cdot k \downarrow)$$
.  
the eigenstate should be a linear superposition of these states.  
 $|\psi\rangle = \sum_{R} \alpha(k) C_{R\uparrow}^{+} C_{R\downarrow}^{+} |F\rangle$ , where  $\alpha(k)$  is the coefficered  
 $|F\rangle$  the Full filled Fermi  
sphere.  
 $H|\psi\rangle = \sum_{R} \alpha(k) (H_{0} C_{R\downarrow}^{+} C_{R\downarrow}^{+} |F\rangle)$   
 $H_{0} C_{R\uparrow}^{+} C_{R\downarrow}^{+} |F\rangle = (C_{R\uparrow}^{+} C_{R\downarrow}^{+} |IF\rangle) = (C_{R\downarrow}^{+} C_{R\downarrow}^{+} |F\rangle) = (C_{R\downarrow}^{+} C_{R\downarrow}^{+} |F\rangle) = (C_{R\downarrow}^{+} C_{R\downarrow}^{+} |F\rangle) = (C_{R\downarrow}^{+} C_{R\downarrow}^{+} |F\rangle) = U\sum_{R} C_{R\downarrow}^{+} C_{R\downarrow}^{+} |F\rangle)$   
 $H_{0} C_{R\uparrow}^{+} C_{R\downarrow}^{+} |F\rangle = U\sum_{K\pi'} C_{K\uparrow}^{+} C_{K\downarrow}^{+} C_{K\downarrow} C_{K\downarrow}^{+} C_{K\downarrow}^{+} |F\rangle) = U\sum_{K\pi'} \delta(k, k') C_{K\uparrow}^{+} C_{K\downarrow}^{+} |F\rangle = U\sum_{K} C_{K\downarrow}^{+} C_{K\downarrow}^{+} |F\rangle)$   
 $= U\sum_{K\pi'} \delta(k, k') C_{K\uparrow}^{+} C_{K\downarrow}^{+} |F\rangle = U\sum_{R} C_{K\uparrow}^{+} C_{K\downarrow}^{+} |F\rangle)$   
 $= E \sum_{R} \alpha(k) (a e_{R\downarrow} + e_{0}) C_{K\uparrow}^{+} C_{K\downarrow}^{+} |F\rangle) = E \sum_{R} \alpha(k) C_{K\uparrow}^{+} C_{K\downarrow}^{+} |F\rangle$   
 $i.e. (a e_{R\downarrow} + E_{0}) \alpha(k) = U \sum_{R'} \alpha(k') = E \alpha(k)$   
 $\Rightarrow \alpha(k) = \frac{U}{k} \frac{2k}{\alpha(k)} = \frac{2k}{k'} \frac{2k}{\alpha(k')} = E \alpha(k)$   
 $\Rightarrow \alpha(k) = \frac{2k}{k} \frac{2k}{\alpha(k)} = \frac{2k}{k'} \frac{2k}{\alpha(k')} = \frac{1}{k} - \frac{1}{4E + a e_{K}}$ 

bound state solution  $\frac{1}{u} = N(0) \int_{0}^{1} dE \frac{1}{2E - \lambda^{\Delta E}}$ 1  $= \frac{N(v)}{2} \ln \frac{z\hbar w_{D} - \Delta E}{-\Delta E}$ 21EK 28]  $\simeq ln \frac{2\hbar\omega_{D}}{1\Delta El}$ 2 N(0)U  $\Rightarrow$ Cooper pair binding AE = atwo e energy!